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01 At 22l 15,600 14,315 1,285
< YEt=2Hl > 0
o HYEsH 2Y A28 257¢Y
100,000& * 42& 4,200
o He=s% HFE MH 100,000& * 5038 5,000
o HEHINA SEHEME LS
20,000& = 60 = 23] 2,400
<YXE > 0
o Heg=s% I 1,000,000& = 404 A 4,000
206 M= Hl 8,000 4,000 4,000
01 =4l 8,000 4,000 4,000
o SHEsmREL Iz 2Y
100,000& * 208 * 402 8,000
SEMEns 29 10,000 9,000 1,000
201 €24 8,500 7,000 1,500
01 At 2t 2l 8,500 7,000 1,500
< LBk=ZHl > 0
o TAAHIXN sEME LS
15,000& = 30 * 153 6,750
o sZEMEnNd 23 AZ4H =5+7Y
50,000& = 15& 750
<2gsy > 0
o MERAWMENS A=Y
200,000& = 53l 1,000
206 M= Hl 1,500 2,000 A 500
01 =8l 1,500 2,000 A 500
o sEMEnY AsMHE 100,000& * 153! 1,500
EMEFE 29 13,954 12,776 1,178
101 @144 dl 3,544 3,365 179
04 JIZHHZ2XRHEES 3,544 3,365 179
o HARMHLS SESZE 2o
45,0003 = 5% = 15 3,375
o 40 BE= 3,375,000& = 5% 169
201 Let2d] 1,000 1,000 0
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2N JlsE2ad

M sYII=HE

€ ST 2= 43 (&)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
01 At 22l 1,000 1,000 0
<2gsy > 0
o ZMARS ZAM=E 100,000& * 103l 1,000
206 M= Hl 4,280 5,281 A 1,001
01 =4l 4,280 5,281 A 1,001
o ZMERS A5 ME 100,000& * 25& 2,500
o MAN 2= EMHES ME
60,000& » 20& 1,200
o ZMARS A3 HZHl 58,0008 » 108 580
301 et d=s 5,130 3,130 2,000
09 HALAHIEA S 5,130 3,130 2,000
o EMATE HAE ESEH
50,000& = 90& 4,500
o EMATE HAF HAH SAZA
7,000& = 30¥ » 3« 630
Ordst g 28 Y St8E =4 14,000 11,000 3,000
201 £B-2d| 3,000 3,000 0
01 At 22l 3,000 3,000 0
< LEt=ZHl > 0
o OfM3IATS 2E HE L 4224 A8 2
s 7Y 200,000& * 53| 1,000
o OfM3IARS WS DMME 2 n 2
500,000& * 23l 1,000
<2gsy > 0
o OfMstARS WE LM
100,000& * 102/ 1,000
206 = Hl 6,740 5,240 1,500
01 M2 4l 6,740 5,240 1,500
o a3 AsHE 7Y
50,000& * 938 = 103l 4,500
o OfMstARS MAIEl ME +Y
224,000& » 105 2,240
301 et a3z 4,260 2,760 1,500
09 &AL HIZB &S 4,260 2,760 1,500
o OrdaH-3 HMAlE 2324
50,000& * 60& 3,000
o OIMBIOINE] FAIS HA DASA
7,000& * 60¥ = 3 1,260
sZZIEZSRS 32,020 50,820 A 18,800
= 14,020
e 18,000
NEES sII=d3235 AR 10,000 10,000 0
= 5,000
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A Jlz=E220
MM sHI) s
Sl SYUAYYIN CERED
- _ _ RE]
SA BB (3H) - NRAY - B Ol At o %@ﬁ HRE2
| | | = 450
HMIEAH (JI=sE220) 55,562 45,158 10,404
ol 2HH| 41,112 30,408 10,704
oA ALY 41,112 30,408 10,704
101 Q124 H| 41,112 30,408 10,704
01 2 41,112 30,408 10,704
< =G > 0
o A2 RLE
9,136 * 158 x 25A12F » 128 41,112
JlEddl 14,450 14,750 A 300
Jl2 &l 14,450 14,750 A 300
201 LBt ]| 11,450 10,550 900
01 AP 22| H| 11,450 10,550 900
< dBet=ZH| > 0
o TglE El4 ¢ 250,000& = 3CH = 43| 3,000
o EA EE H 300,000& * 2CH * 23] 1,200
o ZEA2X 25,000& = 10B8FA = 12&8 3,000
o AIR4A 829 ARE 2 250,0008 * 103 2,500
o HHAH L n=sZ=d&EHl =2l
350,000 = 504 1,750
203 € R F & 3,000 4,200 A 1,200
04 EASHEIRFAH| 3,000 4,200 A 1,200
o 1501 0| at 250,000& = 12€ 3,000
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